20

HOMETOWN FLOORING 523 WEST 1ST AVENUE CORSICANA, TX 75110 Telephone: 903-872-6061

Page 1

ES500613

QUOTE

Sold To

JP COURT ROOM, TRAVIS DEMPSEY 312 W 2ND AVE CORSICANA, TX 75110

Ship To

JP COURT ROOM, TRAVIS DEMPSEY 312 W 2ND AVE CORSICANA, TX 75110

Quote Date MAIN		PO Number		S. CALL	Quote Number			
08/14/25		979-820-3592		CARPET AND PAI	NT	ES500613		
Inventory	Style/Item		Color/Descr	ription	Quantity L	Jnits	Price	Extension
2B134	RULE BREAKER		NICKEL		192.06 S	Y	17.09	3,282.31
RDCPT	MATRIX - 24 X 24 REMOVAL/DISPO CARPET TILE INS	SAL CARPET			192.06 S		1.40 1.40	268.88 2,419.96
JOHDC6X100	DURACOVE 6 X 1		TO BE DETER	RMINED	300.00 L		1.71	513.00
6CB	6" COVE BASE IN	STALLATION			242.52 L	F	1.15	278.90
HPSSL	CEMENT BASED FINISHING COMP	RAPID DRYING AND OUND 10 LB		ED RAPID DRYING AND DMPOUND 10 LB	4.00 E	A	21.45	85.80
FP	FLOOR PREP INS	TALLATION			8.00 E	A	28.05	224.40
	CARPET STAIRS-	OPEN & TUCK & ROL	L		8.00 E	Α	11.20	89.60
ML	MISCELLANOUS	LABOR			1.00 E	Α	4,437.50	4,437.50
Paint co	ourtroom and ju	ry room thoughou	ut					
TRA	LVT TRANSITION	ALLOWANCE	TO BE DETER	RMINED	3.00 E	A	79.75	239.25
TRAN	TRANSITION INST				3.00 E	A	32.50	97.50
1.8 - 4 - 64	FREIGHT \$150				1.00 0	5	150.00	150.00
PA	PAINT SERVICES				1.00 E	Α	4,610.00	4,610.00
A854-PREM	MODULAR TILE A	DH4GAL PREMIUM	CLEAR		4.00 E	Α	128.72	514.88

Carpet demo,6 inch cove base ,rubber stair treads 2 inch , customer will pull chairs and pony walls before starting date and reinstall. Rubber cpt to vct trans,

08/15/25		11:51AM
Sales Representative(s):	Material:	4,635.24
KODY HILL	Service:	12,576.74
	Misc. Charges:	0.00
The state of the s	Sales Tax:	382.41
Thank You for allowing Hometown Flooring the privilege to estimate your project. We look forward to working with you. Please feel free to contact us with any questions concerning this estimate.	Misc. Tax:	0.00
	QUOTE TOTAL:	\$17,594.39

HOMETOWN FLOORING **523 WEST 1ST AVENUE** CORSICANA, TX 75110

Telephone: 903-872-6061

Page 2 ES500613

QUOTE

Sold To

JP COURT ROOM, TRAVIS DEMPSEY **312 W 2ND AVE** CORSICANA, TX 75110

Ship To

JP COURT ROOM, TRAVIS DEMPSEY **312 W 2ND AVE** CORSICANA, TX 75110

MAIN PO Number Quote Number **Quote Date** ES500613 CARPET AND PAINT 979-820-3592 08/14/25 **Quantity Units** Inventory Style/Item Color/Description Price Extension

This Quote is for completing the job described above. It is solely based on our evaluation and does not include material price increases or additional material/labor. Any unforeseen jobsite conditions may incur additional expenses to the Homeowner/Customer. The accepted method of payment includes cash or check. There will be an additional service charge for accepting credit card payments. To purchase materials a deposit will be required upon acceptance of this estimate. Balance will be due within 5 days of completion. Materials may vary from samples. Return policies vary for each product and may be subject to a restock fee. Product warranties limited to manufacturer. Hometown Flooring will provide a 1-year labor warranty. Hometown Flooring is insured and bonded...

ACCEPTANCE:

SIGNATURE / DATE

11:51AM 08/15/25 Material: 4,635.24 Sales Representative(s): Service: 12,576.74 KODY HILL Misc. Charges: 0.00 Sales Tax: 382.41 Thank You for allowing Hometown Flooring the privilege to estimate Misc. Tax: 0.00 your project. We look forward to working with you. Please feel free to contact us with any questions concerning this estimate.

QUOTE TOTAL: \$17,594.39

HOMETOWN FLOORING 523 WEST 1ST AVENUE CORSICANA, TX 75110 Telephone: 903-872-6061

QUOTE

Sold To

JP COURT ROOM, TRAVIS DEMPSEY 312 W 2ND AVE CORSICANA, TX 75110

Ship To

JP COURT ROOM, TRAVIS DEMPSEY 312 W 2ND AVE CORSICANA, TX 75110

Quote Date MAIN 08/20/25 979-820-3592		PO Number BATHROOM TILE		Quote Number ES500629			
							Inventory Style/Item
	ER OS 3/8 STAIN STL ACOLOR SELECT	SCHLUTER SMOKE GREY		2.00 4.00		26.00 4.85	52.00 19.40
[Marking : Harris - Marking : Marki	LOR SELECT BASE 10	10 LB BASE		4.00	EA	20.51	82.04
12968 LAT LHT MORTA	AR GRAY 50LB	GREY		6.00	EA	15.01	90.06
101056505 USG FIBER ROC	CK .42IN 3X5	FIBER ROCK		20.00	PC	12.68	253.60
FR FREIGHT				1.00	C5	125.00	125.00
WT WALL TILE INST	ALLATION			272.00	SF	15.40	4,188.80
SI SCHLUTER TRIM	MINSTALLATION			12.00		14.00	168.00
FTI FLOOR TILE INS	TALLATION			49.00		6.65	325.85
HB BACKER BOARD	INSTALLATION			272.00		1.75	476.00
RD REMOVAL/DISP	A CAN CAN			1.00	EA	600.00	600.00
remove all tile and	counter top, rem	nove dry wal	1 and prep	for tile			
4501-0467-0 SOHO MOS 2IN bathroom floor tile	HEX MATTE .936SF	RETRO BLACK		54.29	SF	6.94	376.76
WBT0X.11224UPPOINT BREAK U S	PS 12X24 16	DOVE CONCR	ETE	304.00	SF	3.59	1,091.36
All bathroom walls f	loor to ceiling						
AHK1S100ACGB DILEX-AHK 3/8 BRUSHED CHROME		SCHLUTER		10.00	PC	39.03	390.30
E90/AHK1S/ACG DILEX-AHK O/S		SCHLUTER		2.00	PC	24.75	49.50
190/AHK1S/ACGBDILEX-AHK IS CI	RN BRSH CHROME	SCHLUTER		6.00	EA	24.75	148.50

08/22/25		3:06PM
Sales Representative(s):	Material:	2,553.52
KODY HILL	Service:	5,883.65
BROOKLYN ROBINSON	Misc. Charges:	0.00
	Sales Tax:	210.67
Thank You for allowing Hometown Flooring the privilege to estimate your project. We look forward to working with you. Please feel free to contact us with any questions concerning this estimate.	Misc. Tax:	0.00
• •	QUOTE TOTAL:	\$8,647.84

HOMETOWN FLOORING 523 WEST 1ST AVENUE CORSICANA, TX 75110

Telephone: 903-872-6061

Page 2 ES500629

QUOTE

Ship To

Sold To JP COURT ROOM, TRAVIS DEMPSEY **312 W 2ND AVE**

CORSICANA, TX 75110

JP COURT ROOM, TRAVIS DEMPSEY **312 W 2ND AVE** CORSICANA, TX 75110

QUOTE TOTAL:

\$8,647.84

Quote Date	MAIN	PO Number	Quote Number		
08/20/25	979-820-3592	BATHROOM TILE	ES500629		
Inventory Style/Item	Colo	r/Description Qua	ntity Units Price Exter	nsion	

This Quote is for completing the job described above. It is solely based on our evaluation and does not include material price increases or additional material/labor. Any unforeseen jobsite conditions may incur additional expenses to the Homeowner/Customer. The accepted method of payment includes cash or check. There will be an additional service charge for accepting credit card payments. To purchase materials a deposit will be required upon acceptance of this estimate. Balance will be due within 5 days of completion. Materials may vary from samples. Return policies vary for each product and may be subject to a restock fee. Product warranties limited to manufacturer. Hometown Flooring will provide a 1-year labor warranty. Hometown Flooring is insured and bonded...

ACCEPTANCE:

SIGNATURE / DATE

08/22/25		3:06PM
Sales Representative(s):	Material:	2,553.52
KODY HILL	Service:	5,883.65
BROOKLYN ROBINSON	Misc. Charges:	0.00
	Sales Tax:	210.67
Thank You for allowing Hometown Flooring the privilege to estimate your project. We look forward to working with you. Please feel free to contact us with any questions concerning this estimate.	Misc. Tax:	0.00